/"ff"”w "SH‘/, 59, 3- 6 13, 1578 .,12/,;,—
¥ read theousl book's xplenation {lr c

sr) ¢ ,1 ' | & ‘
) = 4+, S-Z-) /3 ., 19 53) Lo_ 2 X x;— nd
Y 7 X-1 I%X-2 x x* L=
by* 7 2%-¢ X2 2054
L. L ; | =l |
3y e - ‘s
- IX-2 a2 x _ 2 ;z/x"z
by+7 4o x> x> .
i 2x-2. ax-9 /_)f__
4o xs Shalls
2 (x-1) y=a_ X% __
/X,I X > 2(x2)
5%) L 12 s2) _X
XZ-I'S_X +é X+3 N ¢
. - . . -/
A r 2 (ke x
(et3)(xrd) Xz ey p
7 +rax+29
) X
(Y'f‘?)(x* 2) X2 Fu.uCF'IOA)
 Jax+33 Xz
e X2
(x#3){xt2)
‘ X+
3(4xtn) X >
2-1
x+3)(X+2) —x';‘—‘:
-3
X r . 3 e .-)m«‘;-
1) 413X ;)7%) P y S e E 4]
x>z X1 > 0+
— - ‘ -z
o a4 Harwke | [WoT # /&r/w407 ;3 ) fim (3% 45X +7)
Fowetron A m"‘/_, Y
= 7; +£SXx+ 7 ISE]
jﬁﬂ”fhﬁ'ﬂ/; "/:’“f@ /7‘/7"'””‘(“/ A s o FOET
-{IQ/FT)MIAL ) 12) lm  #xe3x"
X > 7/*2_, 3X
= 3xZs yx
gx2 +3x
fim 3X* o [2 ]
X Ty /Z?



1) lim ‘-__...__,-———-M‘;X * X ") Le)=3 T x T Xl
C x9w g, *rSx 8 , |
ax* | he vt Lo
[ ' 7 X -
X>~c0 "X, / +/ /

SeAx)=2 3+ = 14
f#ﬂf ﬁz'—'f/

13) £(x)= s) A= _X+1
It f , )(_"-r(
CAs xa e £ 0 /.v-> roo Fl)> //

3’"“[”) - “/L"""/ 9‘(::) x3+l

x"-+:
7’5 j =/ /] 3
| x> 200 90c) > X = x

Lf‘ra/l‘ A/pfmdu‘-t y=x ]

/ 7,) /&mm«— Fowerion] oarrd :

£von jmndf] /f(z)=xx / o PO')
+

Xj Lfdk Ekn ov /?ofidial/

A(x): X!

X+
=/

¥
x>t h(x) >)(" x

0//9»-»«#\7. )= X° x> or #(,) 7 /0“ even and 0,;,4{47
X% '
/1/(0‘/‘4/ "/%,(X)'-’ XY 2.’:( or ﬁé\‘) ﬂ Nk”/ﬂ"f/l-!"lk/]
X */

/?) réx) = _fo)-— /ﬁv) dgy/ee m

Z3) 2 /‘3 of broni( A//og ﬁ‘a-/ '4 &in ‘ .
Coppur 1S Constant GolHing X of hn . Cre

x »o0t* hi(x) 2
| x =0~ h(x)—>-0>

x> 20 hooo—=o —{
D

| YA gln) dgf(e n raph agpiosches
_— CCx)= Concent of din = Fotal #in 2] 1 oc 8% Consetidtin
a.) /.«M rldzo M Pl alloy
i 4) Cx)= (24
2+ X
b) fim r[(/ K .
X220 | b)C[ 5) - /* S LS go
2% 2 ’?f 0 / G’!‘Mwlrahw
. . : ‘Lie 3o be Jess
C( R RN Tt posshie - §
3() Aleokol Softion fga/ waler, ch/qlal..l 27 -5' L5 N
X 20, fUx) i rak's velame aicoho/ to lguid,
r

ﬂ.} 'P[i') =_X X

( x'f} —.‘ALC'HJI?T&Q ) L(x)= 4-3%
. . T " ﬂl(’nulwfduh- £ sx-Y

b) £/7) - %5, z 7:2;;,; 57'333? a/to:a/ c;nfmn: ¥ = .3

2/ 7 7g alcohol + S water i 7-34

C) o= |xzo The Lativn 16 0% hew cy~4)= 4-3

x+s Y ao/:fz:/ s adoledd. x (<] ) J

2t As the volame of
77vo/ rh&/wfs/ Fhe &mc;,,f/,/;ﬁ,_
i vpche s ( or 0%,

5xY+3y= 4+ 4 x

D(gx»,s)  2X'3%
= Y +9X




